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QUESTION NO: 1

What is correct about a profile? (Choose two.)

A. is applied to a package

B. cannot be used without its reference model

C. can dynamically change its reference metamodel

D. is applied to a reference metamodel
ANSWER: A B

QUESTION NO: 2

In the exhibit, if all incoming arrows provide the same value, how many values does the pin have?

4 k.

A. three.
B. two
C. one

D. none

ANSWER: A

QUESTION NO: 3

Which figures are correct models for extension and generalization/specialization? (Choose three.)
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ANSWER: AD E

QUESTION NO: 4
What must be true for a connector to be well formed if a delegation connector delegates to more than one target port?
A. The interfaces of the target ports must have no features in common.

B. The interface of at least one of the target ports must be signature compatible with the interface that is the type of the
source port.

C. The interface of each of the target ports must be signature compatible with the interface that is the type of the source port.

D. The union of the interfaces of the target ports must be signature compatible with the interface that is the type of the
source port.
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ANSWER: D

QUESTION NO: 5

In UML, what kind of behaviors are state machines used to describe?
A. software based

B. continuous

C. continuous or discrete

D. discrete

ANSWER: D

QUESTION NO: 6

When an object invokes a ReadSelfAction, what will it retrieve?
A. attribute values for the invoking object

B. invoking object

C. attribute values and links for the invoking object

D. class name of the invoking object

E. name of the invoking activity

ANSWER: D

QUESTION NO: 7

What does a structured node contain? (Choose two.)
A. messages

B. edges

C. classes

D. nodes

E. lifelines

F. States
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ANSWER: B D

QUESTION NO: 8

What symbol depicts a Call Behavior Action?

A A
B.B
C.C
D.D
E.E

ANSWER: E

QUESTION NO: 9

What is NOT true of a CreateObjectAction? (Choose two.)
A. output pin has multiplicity [1..*]

B. classifier cannot be an association class

C. output pin has multiplicity [1..1]

D. classifier must be abstract

E. classifier cannot be abstract

F. type of the output pin is the classifier

ANSWER: AD

QUESTION NO: 10
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What are the kinds of structured nodes? (Choose two.)
A. partition

B. object node

C. loop

D. action

E. conditional

ANSWER: C E

DumpsBoss - Pass Your Next Certification Exam Fast!
dumpsboss.com


https://dumpsboss.com/

